EE S I B4 JEENBE BEHA X (ng-TEQ/m3) .
(ke/h) ATREE| BREE] BARR 7=
s (k) #FmHPIWITIE Nol 27 74L& —HO hiE ™ (52,000(KVA) 0.44 5 O|E=WF1D
HEAlE (K FhEIE No3NI 74L& —HO paskit:: vl 0.039 5 O
FINE&CEY&— FIA 875 0.43 5 O
ZEMRELVYX— 15F25F ZET 2500 x 2 0.057 5 OlHEH Z IR IFHE
REETSIBCAERERES 15F A ERHT 2,500 0.37 5 O
PR ER ZH B R FEEH 375 0.9 5 O
PR T HIIBHEER FRAN 375 0.21 5 O
PAERBELY2— 124 ESEETN 1,000 3.4 5 O
CAERBEL YR~ 22)F ESEETN 1,000 2.8 5 O
BEREERRES CHNEER 18R iE™ 4,292 0.0036 0.1 O
EREERRES CHMNEER 23R B 4,292 0.0033 0.1 O
BIREERRES CANIEER 3 BIR HET 4,292 0.0066 0.1 O
() BEY/Y1—vav paski s 1,950 0.26 5 Ol2=4F
(BR) BEY ) a1—Yay (HBeEsEEnsLBEEs) B 600 0.79 5 Ol15%F
(BR) FREEEEEXFEEDFEAEL EEa ] 1,950 0.32 5 O
(HR) B8 ZEALENF - n—%J—F1Lv HFE™ | 2000/1900 0.33 1 OlHER 2 405&E
(R BB RXZ7HHAEN—42 Y —FL> Paskc: sl 8,333 0.081 0.1 O
pERILIRIREE S T A BEAIERY 1 SR D)5 FEmM 3,458 0.0083 1 O
RERILIRIBIEE S T ABEAIIERX 2 B4R D 5FM 3,458 0.016 1 O
LT ERES RBEELLV 22— 15F 5= FANET 2,187 0.49 5 O
LLENITHEREES REXttry2— 258 = FiNAT 2,187 0.59 5 O
SR SR 42— 1847 LR AT 2,462 0.042 1 O
SRMXERE 2 - 2547 SR AT 2,462 0.064 1 O
FIEA I RIEANEREEEES 1 SF Je At 833 0.00098 5 OlarFzE->T1SFRO2FFEI LA X ZHH,
AR EREEESE 25 At A A 833 0.0098 5 O|BFAEBE->T1BFERV 2SN L H R EHEH,
SHARTI-vtva- 1 BAR SEANT 3,125 0.013 5 O
SEARTI-vea- 2 BIF AT 3,125 0.03 5 O
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(ke/h) AR ERRE| EmAkS 7
AR CH R E— 375 1 5 0
E R BN T AT EEE 560 29 10 0
AKEZ1-7)-vtv4- 1S AKEET 1,250 0.39 10 O
AKEZ1-7)-vtv48- 2 B4R AKEHT 1,250 0.16 10 O
RER S SHAY J)-vty4- b KBS 250 1.4 5 O
ERLE AR REEE L A— 125 5 JRAT 2.042 0.054 1 0
BRI A R EEE e A— 258 5 AT 2.042 0.059 1 0
Y EEEEL A— 12F g 1167 0.5 ) 0
YEBEBE(LoA— 22F g~ 1167 015 1 0
E - mRARICANEREE 1 SIF [EPENEL 6,250 0.0021 0.1 O
B - mRARICANERESR 2 SIF A AR ET 6,250 0.0024 0.1 O
REH - ERERECANEESR 357 A E R T 6,250 0.0048 0.1 O
IRE - mERE CANERER KARFE 1S A AR ET 1,083 0.00026 5 O
IRE - FEERET AR KARF 2 5 A AR ET 1,083 0.00071 5 O
EEEEREYIEREES AT 700 051 5 0
gY—vtor2—71-6F% % REN 375 0.73 5 O
SE BT CABNEE 12 P 1.969 0.008 5 0
SR BT CHENEE 22 2EED 1,969 0.0011 5 0
AEHRZY—rtvr2— 154 FHiBTH 2,500 0.011 5 O
REMIZY—vtr2— 254 RIET 2,500 0.026 5 O
5 BRE BT & AR MR = Es)in) 209 0.013 5 O
R R (R P v 173 0.041 5 0
BESH KfH# S5 FM 175 0.013 5 O
PR AT AT S5%% 175 0.058 5 0
ARG R = 190 0.019 5 0
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(kg/h) AERER| BAELE| BERR
HREE i) 108 0.13 5 O
= hRERERFmERN == 173 0.014 5 O
(B) mBR%E =EHET 130 0.015 5 O
(B) W% EHE™ 188 0.06 5 O
MEE/INES ZHBEHS T E HT 81 0.031 5 O
T E R IR A BEAN 5 TTEHT 57 1.6 5 O
MEIREE ZA KNS TTEHT 57 0.0044 5 O
MEES ZHBEHS T EHT 81 0.014 5 O
T = EThER] & A B H 5 TTEHT 57 0.097 5 O
TR RN\ E LR E R R E T REY AR AiET 160 0.021 5 O
11 & BT R BEEY B A HERK = 190 0.00096 5 O
(B) REBEZZINIE FiE™ 146 0.28 5 O
(BR) TV B0 AiET 176 6.3 5 X |R 6 FEICHERED
(B) 7U—>U¥A 7L 25F 535%™ 600 51 5 X |WENHERIND £ TELE (R 6 FEICHEHR
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(kg/h) AERR| EREE| 5K

(B) 7U—=>U¥A4 0L 15 55FmM 600 A1k
EEN TR BRI HERR EE 375 K1k
[RIERR S E A 85 K1k
NrYwLE—FU/— B BT 195 K1k
FRBEARASHERINIRER s R-E ] 200 K1k
AR A A EEREE X — 555%™ 33 K1k
TA - T —ILEA ST 55 180 RikEr
XAt b~ RIHTRFZE T S R-E ] 196 K1k
AN - h-  ARE AT 647 R1EFR
ST E Yy S v an Himm 195 K1k
FRBIRIEEZE CGREIE)  1SWF Homm 48 K1k
HRBIRIEEE RWIH)  2854F Himm 48 K1k
(B) BERLY—EX AiEH 224 R1EH
REETS IR ERBEES 254F ANERET 2,500 K1k
KA KL VER i) 195 BE b
ZETERRNEREE ZET 160 R
UkEEEFAMESR] HERSREEICLIATHSR
EE 30 kS mETA | BHEKE

(m3/8) AERER| AELE| BeRR
HRE 7 O RIS EEGEES RN 1.8 0.25 10 O




